## **TOWN OF GOLDEN BEACH, FLORIDA**

## **RESOLUTION NO. 2817.22**

RESOLUTION OF THE TOWN COUNCIL OF THE TOWN OF GOLDEN BEACH, FLORIDA AUTHORIZING THE PAYMENT OF THE INVOICE ATTACHED AS EXHIBIT "A" TO SOUTHEASTERN ENGINEERING CONTRACTORS, INC. FOR ROADWAY REPAIRS ON SOUTH PARKWAY; PROVIDING FOR AN EFFECTIVE DATE.

WHEREAS, the Town from time to time needs to incur extraordinary expenses for the repair of capital infrastructure; and

WHEREAS, certain damage to the Town's roadways occurred which needed immediate repair; and

WHEREAS, the Town engaged Southeastern Engineering Contractors, Inc. ("Southeastern") to perform the repairs for which Southeastern has submitted an invoice attached as Exhibit "A."

NOW, THEREFORE, BE IT RESOLVED BY THE TOWN COUNCIL OF THE TOWN OF GOLDEN BEACH, FLORIDA, AS FOLLOWS:

<u>Section 1.</u> <u>Recitals Adopted.</u> Each of the above stated recitals are hereby adopted, confirmed and incorporated herein.

Section 2. Authorization of Payment. The Council hereby authorizes and approves payment to Southeastern Contractors, Inc. in an amount of \$34,166.80 as described in the attached Exhibit "A" to this Resolution.

<u>Section 3.</u> <u>Implementation.</u> The Town Mayor and Town Manager are hereby authorized to take any and all action reasonably necessary to implement the purpose and intent of this Resolution.

Section 4. Effective Date. This Resolution shall be effective immediately upon adoption.

The Motion to adopt the foregoing Resolution was offered by <u>Councilmember</u>
<u>Lusskin</u>, seconded by <u>Councilmember Bernstein</u>, and on roll call the following vote ensued:

Mayor Glenn Singer	<u>Aye</u>
Vice Mayor Jaime Mendal	<u>Aye</u>
Councilmember Bernard Einstein	<u>Aye</u>
Councilmember Judy Lusskin	Aye
Councilmember Kenneth Bernstein	Aye

PASSED AND ADOPTED by the Town Council of the Town of Golden Beach, Florida, this <u>17<sup>th</sup></u> day of May, 2022.

MAYOR GLENN'S NGER

ATTEST:

TOWN CLERK

APPROVED AS TO FORM AND LEGAL SUFFICIENCY:

STEPHEN J. HELFMAN TOWN ATTORNEY



# TOWN OF GOLDEN BEACH

One Golden Beach Drive Golden Beach, FL 33160

#### MEMORANDUM

Date:

May 17, 2022

To:

Honorable Mayor Glenn Singer &

**Town Council Members** 

From:

Alexander Diaz, Town Manager

Subject:

Resolution No. 2817.22 – Approving contract with

Southeastern Engineering Contractors to revise the curb and gutter slope along South Parkway allowing proper drainage.

Item Number:

### Recommendation:

It is recommended that the Town Council adopt the attached Resolution No. 2817.22 as presented.

## Background:

Our roads and streets are being evaluated frequently for proper drainage and catch basin debris removal. As time passes, the settlement of the roadways and curbs vary by location. We have notice that the southern roadway of South Parkway has been retaining water along the southern valley gutters and not flowing to the catch basins. The modification to the slope of the valley gutters must be revised in order to allow the proper flow of storm water to our outfall Additional revisions to be made include (7) catch basin elevation changes to match the new slope. Sidewalks. D-Curbs, resetting of pavers, and Asphalt repairs.

#### Fiscal Impact:

The fiscal impact for this project is \$ 34,166.80. Funds will come from the 541-465-000-000 Street Repair and Maintenance.



PROPOSAL							
FINANCIAL	ROJECT DESCRIPTION: TOWN OF GOLDEN BEACH  NANCIAL PROJECT ID: South Parkway Concrete Repairs  ROJECT NO.: N/A			ΓΕ: 3/30/2022			
ITEM			UNIT	QTY.	UNIT PRICE	TOTAL AMOUNT	
1	MOBILIZATION		LS	1.00	600.00	600.00	
2	SIDEWALK DEMO AND INSTALLATION		SF	50.00	8.20	410.00	
3	F-CURB/V-GUTTER DEMO & INSTALLATION		LF	364.00	36.00	13,104.00	
4	D-CURB DEMO & INSTALLATION		LF	71.00	32.00	2,272.00	
5	CATCH BASIN ADJUSTMENT		EA	7.00	1,000.00	7,000.00	
6	PAVERS REMOVAL AND REINSTALLATION		SF	82.00	9.00	738.00	
7	ASPHALT REMOVAL AND INSTALLATION		SF	536.00	9.80	5,252.80	
8	SAWCUT FOR ASPHALT		LF	288.00	5.00	1,440.00	
9	CONCRETE FLUME		EA	5.00	350.00	1,750.00	
10	CLEANING & RESTORATION		EA	1.00	1,600.00	1,600.00	
						<u>-</u>	
	<u> </u>					-	
	+						
					TOTAL	34,166.80	

Payment Terms: A 50% deposit upon signing of the contract, and balance due upon completion of job.

The price(s) quoted here are based on the quantities/measurements stated above. Any change in measurement or quantity may result in a price adjustment. Customer agrees to pay interest on past due payments at the highest rates allowed by law from when payment is due until payment is received by Southeastern. Customer agrees to pay all costs of collections due to non payment and reasonable attorney fees of the contractor in any effort to collect moneys under this agreement. All prices quoted are good for 30 days.

**Exclusions:** Permit fees unless specifically accounted for above, HOA fees, landscape restoration or any other work not specifically listed or described in this proposal. If you do not see an item of work described above please do not assume that it is accounted for.

Cost of restoration work of affected areas is to be priced by SEC and approved by the Town prior to SEC performing the restoration work. No restoration or repairs work such as landscaping, irrigation, etc., etc. is included in above items.

Minimum charge for concrete is \$3,150.00

Submitted t Southeastern Engineering Contractors, Inc.
911 NW 209th Avenue, Suite 101
Pembroka Dinas El 33029

Accepted by: Town of Golden Beach